Phys. 101 - Sec # Quiz#5 (Ch.7)
Name: K“ﬁ ID #

A 2.5 kg block slides head on into a spring with a spring
constant of 320 N/m. When the block stops, it has compressed
the spring by 7.5 cm (e = 0.25). While the block is in contact
with the spring and being brought to rest,

a) What is the work done by the
spring force between i and {?
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b) What is the work done by the gravitational force between i
and f?
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¢) What is the work done by the frictional force between i and
£?
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e) What is the block’s speed just as it reaches the spring?
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